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R EDLNGTIMiIE x0.9479 + K HEDLPGTIHii%x0.0546
= 85,670 F/t x0.9479 + 82,200 M/t
= 85694.713
5 85,690 M/t (10MKm=ZMIERA)
[FRRMBRZEENERDETE
(ETEARHL]
R HieDERREUES — B RIS
= 85,690 F/t - 57,250 M/t
= 28,440
5 28,400 M/t (100MKENE)
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[REHIEZEEIEE +~ 100 x 0.0891
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> EEDRBHEIRORE
(EtEIRHL]
R HIEDLNGFISMMiiE % 0.9476 + b HIZDLPGFIIiiE*x0.0569
= 85,670 F/t x0.9476 + 82,200 F/t x0.0569
= 85858.072
5 85,860 M/t (10MRKREZMWERA)
[FRUEIRZEENERDETE
(FtEIRHL]
R SRS — B FRHTA
= 85,860 M/t - 64,090 M/t
= 21,770
5 21,700 M/t (100M=KiEtIE)
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(EtEIRHL]
R HIEODLNGIEIMAE % 0.9423 + M HIDLPGFIIIiig*x0.0621

= 85,670 F/t x0.9424 + 82,200 M/t

= 85823.241

= 85,820 A/t (11MEXREZMWERA)
[FRUEIRZEENERDETE
(FtEIRHL]
R SRS — B FRHTA

= 85,820 M/t - 85,350 A/t

= 470

5 400 M/t (101FKHELIE)
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ERUTHSZENEE + 100 x 0.0892
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R HIEDLNGTIMiIE x0.9576 + N HEDLPGTIHii%x0.0446
= 85,670 F/t x0.9576 + 82,200 A/t
= 85868.112
= 85,870 M/t (10AKmEZMIERA)
[FRRMBRZEENERDETE
(ETEARHL]
R HieDERREUES — B RIS
= 85,870 M/t - 83,350 A/t
= 2,520
= 2,500 M/t (100MkKHIE)
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= 2,500 FM/t+ 100 x 0.0891 = 2.22 B/m
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R EEDRBHEIRORE
(EtEIRHL]
R HIEDLNGIISMiiE % 0.9423 + b HIDLPGFIIiE*x0.0620

= 85,670 F/t x0.9423 + 82,200 A/t

= 85823.241

£ 85,820 M/t (10FFREZUERA)
[FRUEIRZEENERDETE
(FtEIRHL]
R SRS — B FRHTA

= 85,820 M/t - 85,350 A/t

= 470

5 400 M/t (100MkKiEtI8)
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